Nl Ol &F AF & &9 N AN
20228 = 20l A LBHSH HAEBTHD
S AL
MY CRUSY HE
2 Al & (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Pal~R=ly\ N3 38,684,725 38,986, 159 A 301,434
= 10,308,000
= 1,584,736
Al 26,791,989
C2UNEY S= 17,204,394 12,984,190 4,220,204
o 50,000
Al 17,154,394
AN E EH| 500,000 1,040,000 A 540,000
ShE Al Mg SHTE 500,000 600,000 A 100,000
401 Al HI L £ 0HHI 500,000 600,000 A 100,000
01 Al& H| 500,000 600,000 A 100,000
O2ds Atlg X2 S A (L=2.5km, B=8.0
~10.0m) 500,000,000 « 1Al 500,000
== &4 1,001,440 150,000 851,440
2Ehs(=2~22) st X 500,000 0 500,000
401 AlEHIZL £ 0HY| 500,000 0 500,000
01 Al&H| 500,000 0 500,000
O2Ehas(22~242)E 2 S ILE(L=1.24km, B=
8.0m) 500,000,000 « 1Al 500,000
2E7S(JI=2~01=2) 2 & 501,440 0 501,440
1 AIEHIZ 2L 501,440 0 501,440
01 A& H| 500,000 0 500,000
ORE75(I=~I1=2)E 2 LA (L=1.12km, B=
25.0m) 500,000,000 « 1Al 500,000
03 AlE 201 Y| 1,440 0 1,440
OAI& 20| 1,440,000 1Al 1,440
sSHEZZ A 1,800,000 3,159,800 A 1,359,800
S005S (HE~HE) SHZE 500,000 0 500,000
401 AlEHIZL £ 0HY| 500,000 0 500,000
01 Al&H| 500,000 0 500,000
O2YU2055 (HE~HSE )2 S (L=1.0km, B
=10.0m) 500,000,000 « 1Al 500,000
AXRS (HMEB~NAS) &2 SFHE 500,000 0 500,000
1AL H Y20 500,000 0 500,000
01 Al&H| 500,000 0 500,000
OAZF2023 (HEHZS~AUYS)T 2 &I A (L=3.5k
m, B=10.0m) 500,000,000 « 1Al 500,000
Hel202s (2H~2H )2 S E 300,000 0 300,000
401 Al HI L 204 HI 300,000 0 300,000
1 Al&H| 300,000 0 300,000




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OMef202s (2AH~2H )2 EEZH(L=0.8km, B
=8.0m) 300,000,000 =14l 300,000
HE2025 (M EeN)EE 82 300,000 501,800 A 201,800
401 Al HI K 201 300,000 501,800 A201,800
01 A& tI 300,000 500,000 200,000
OmE2025 (0l =2l)E2 & H(L=0.3km, B=8.
Om) 300,000,000 =14 300,000
SHEZ2(HR2023) 422 SX(AFdY 22 200,000 201,000 21,000
)
401 Al HIZ 201 I 200,000 201,000 A1,000
01 A& HI 200,000 200,000 0
OsHEZZ(HR20254) Ax=22 X (L=1.
87km) 200,000,000 =14 200,000
E2 FA2e 2,640,469 1,134,390 1,506,079
Ol24 EXEH 2,600,279 1,100,000 1,500,279
305 HHal=2s 279 0 279
01 Hia=s 279 0 279
OAL28Ws MEE 279,000 » 14 279
401 A& HIZ 201 8] 2,600,000 1,100,000 1,500,000
01 A& HI 2,600,000 1,100,000 1,500,000
ongs EXZa 2,500,000, 0003 14 2,500,000
DRy EXRY S 2 2HHI}
50,000,000& =14 50,000
OZ338X MaHS e SII
50,000,000& =14 50,000
T2 B 18,950 13,150 5,800
201 et 18,950 8,950 10,000
01 At 22l 18,950 8,950 10,000
OEHE EH S MREES 7Y
3,000,000& » 14! 3,000
O&H X LAl AEI(EST) & 3,000,000 «2JHK 6,000
ORFA NAALMAUT S B2
70,0003 x5H 32 1,050
OJlzXt2/da &4&=5 70,0008 ~14F x53] 4,900
O=E&X MEZ 4,000,000& =14 4,000
=(3)% Marze 21,240 21,240 0
201 Let24d] 21,240 21,240 0
01 At 22l 21,240 21,240 0
O=(S)FML EZHR S22
246,000& x152 X 3,690
OR(2)RWL B = =448
370,000& 152 X 5,550




S AL
MY CRUSY HE
e &2 X2 (&t
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
OZ(B)SMA NEHSE s2xL42
200,000 60! XI 12,000
SAAHEZZNE 11,262,485 7,500,000 3,762,485
== 50,000
Al 11,212,485
SASIAEE 2T 4258 T2 A 701,764 0 701,764
401 Al HI L 204 HI 701,764 0 701,764
01 Al&H| 700,000 0 700,000
OZ24SA~EHE ZE425 68 T2 I (L=3.56km
, B=35m) 700,000,000& » 1Al 700,000
03 Al 201 Y| 1,764 0 1,764
OA&E L0l 1,764,000 14! 1,764
2HZ(XNYW~S820) STH 1,201,728 0 1,201,728
401 AlEHIZL L2 0HY| 1,201,728 0 1,201,728
01 Al&H| 1,200,000 0 1,200,000
OdHZ(XNdu~=20) &L (L=2.25kn, B=2
0.0m) 1,200,000,000& =14l 1,200,000
03 AlIE 201 Y| 1,728 0 1,728
OAI& 20| 1,728,000 « 14! 1,728
TAIANPT~LQHCIAY E2H(ZE2-49) T2 M & 150,000 1,000,000 A 850,000
401 AlEHIZL 2 0HY| 150,000 1,000,000 A 850,000
01 Al& H| 150,000 1,000,000 A 850,000
OEZADAPT~LQHIAE E2HE2-49) E2M A&
150,000,000 = 14! 150,000
HRAIIIAESAMAEY FH 2t &2 SEZE 1,802,880 0 1,802,880
401 AlEHIZL 2 0HY| 1,802,880 0 1,802,880
01 Al&H| 1,800,000 0 1,800,000
OUHENAESHAEY JF[MY 28 &2 SFEH(
L=1.0km, B=35.0m) 1,800,000,000& =14l 1,800,000
03 AlE 201 Y| 2,880 0 2,880
OAlIE 20l 2,880,000 =14l 2,880
A0 ot HE A2(2-431) W& 300,000 0 300,000
401 Al HI L £ 0HHI 300,000 0 300,000
01 Al& B 300,000 0 300,000
OAZH XY AE A2(2-431) W&
300,000,000 1Al 300,000
SSAIHEI~E 2T ALE 2 (2-8) XX 1,002,520 2,000,000 A 997,480
401 AlEHIZL 2 0HY| 1,002,520 2,000,000 A 997,480
01 Al& H| 1,000,000 2,000,000 A 1,000,000
OSSAHE~E2ZAIHE 2 (2-8) SHE (L
=0.4km, B=30.0m) 1,000,000,000& =14l 1,000,000




AN ALY
MY CRUSY HE
S TAANEEZIE (&
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
03 AlE 2 THHI 2,520 0 2,520
OAZ =l 2,520,000% =14 2,520
IS SGOLE S ==2(F=22-515 2 1) M4 1,002,520 1,000,000 2,520
401 A& HIZ 2018 1,002,520 1,000,000 2,520
01 A& HI 1,000,000 1,000,000 0
O#Fs SGOHER =2 (E=22-518 21) M|
L=0.62km, B=12~15m) 1,000,000, 000& * 14! 1,000,000
03 Al =2 THHI 2,520 0 2,520
OAIZ 2 I 2,520,000 » 14! 2,520
HEMAC~Z2HLIZ 2H U2 1-1 2 1) &2 SZ 300,864 0 300, 864
=t
401 A& HIZ 201 Y] 300,864 0 300,864
01 A& HI 300,000 0 300,000
OFz=AHe~ZHUUZE 2HUE1-1 2 1) &
2 I X (L=5.0km, B=35m) 300,000,000& *14] 300,000
03 Al S THHI 864 0 864
OAIZ2 2 HI 864,000& » 14! 864
EE 7 22YH H(A2-540) ==20HE 601,512 500,000 101,512
401 AIEHI L 2 CHYI 601,512 500,000 101,512
01 A& HI 600,000 500,000 100,000
OJtss # 228 2 (A2-540) =2ME (L=
0.202km B=8.0m) 600,000,000 =14l 600,000
03 Al =2 THHI 1,512 0 1,512
OAIZ 2 HHI 1,512,000& 14 1,512
SHE ME2 831 € 2 HE 300,864 0 300, 864
401 AIEHI L 2CHEI 300,864 0 300, 864
01 A& Bl 300,000 0 300,000
O3 MM M2 0tE1w ¥ &2 =HFH(L=0.25k
m, B=15m) 300,000,000 =14 300,000
03 A& 2 THHI 864 0 864
OAIZ =TI 864,000 » 14! 864
HES W Y2 (223-302) M4 1,552,232 50,000 1,502,232
401 Al HIZ 201 Y] 1,552,232 50,000 1,502,232
01 A& HI 1,550,000 50,000 1,500,000
Oges 8w XYz (A23-302) M& (L=0.08k
m, B=8.0m) 1,550,000, 000& 14 1,550,000
03 AIE S THHI 2,232 0 2,232
OA &SI 2,232,000& x 14! 2,232
T sy MAEZ2(A3-7007) HE 300,864 0 300,864
401 A& HIZ 201 8] 300,864 0 300,864




SN ALY
MY CRUSY HE
Ee: TAIHEZZOHA (ct
4
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HDE2
01 Al&H| 300,000 0 300,000
OF et=d XAEZ2(A3-7007) JHA (L=0.05km
., B=4m) 300,000,000 « 1Al 300,000
03 AlE 201 Y| 864 0 864
OA& 20| 864,000 14! 864
SpaE HiEd=s S 2(AM1-3 2] 1) HEZ2AH 150,000 0 150,000
401 Al HI L £ 0HHI 150,000 0 150,000
01 Al& H| 150,000 0 150,000
O24s He2Zs E2(A1-3 21 1) HE(L=1.
65km, B=8~10m) 150,000,000 = 14! 150,000
LQUZ(ZE214) RAEATERA~ZE|E 2t &2 A 300,864 0 300, 864
401 AlEHIZL £ 0HY| 300,864 0 300, 864
01 Al&H| 300,000 0 300,000
ORUZ(E21-4) RUERA-Ele 72 &
2 JH& (L=0.1km, B=20m) 300,000,000 » 14l 300,000
03 AlE 21| 864 0 864
OAIE 20t 864,000 x14! 864
PAS SMNOIS~E/=2 2H( 1-51) &2 H& 200,000 0 200,000
401 Al HI L £ 0HHI 200,000 0 200,000
01 Al& B 200,000 0 200,000
SAS SHOIS-EHZ H(S21-51)
i & (L=1.8km, B=25m) 200,000,000 « 1Al 200,000
SAHEEC2 HE Y (RS D22 2= (O 170,576 0 170,576
3) AXZAH)
o= 50,000
Al 120,576
| &0 Y20 170,576 0 170,576
= 50,000
Al 120,576
01 Al&H| 170,000 0 170,000
Oz D222 A= (H3A)&X(L=0.19%m, B
=16m) 170,000,000 =14l 170,000
= 50,000
Al 120,000
03 AlE 201 Y| 576 0 576
OAlI& 20| 576,000 =14l 576
EH&2S (E/0HE~HelUote) =E22-40 &2 & 601,512 0 601,512
2 AHAHISHIAY)
401 Al HI L 204 HI 601,512 0 601,512
01 Al&H| 600,000 0 600,000
OHZE2= (22 0H=~H2IU0tE) =2240 &2
St ZH(L=0.3km, B=8m) 600,000,000& * 1Al 600,000




SH: ALY
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el TAHEE2HE

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
03 AlE 2 THHI 1,512 0 1,512
OAZ =l 1,512,000& =14l 1,512
29 HSecl BAWS F(S21-305) HE (HSHIA 300,864 0 300,864
o)
401 Al HI K 201 I 300,864 0 300,864
01 A& Hl 300,000 0 300,000
O2Y 21Se #wAWNG H =2(521-331)M
& (L=0.18km, B=10m) 300,000,000& =14 300,000
03 AlE 2 THHI 864 0 864
OAIE = HHI 864,000 » 14! 864
AZH AL T2 HEABAH(HSHAY) 320,921 0 320,921
401 A& HIZ 201 Y] 320,921 0 320,921
01 A& HI 320,000 0 320,000
OLx=d X2l &= &F(L=0.42km, B=10m)
320,000,000 =14l 320,000
03 Al S THHI 921 0 921
OAIZ2 2 HI 921,000& » 14! 921
St & A 16,457,731 19,488,830 23,031,099
= 10,308,000
< 1,534,736
Al 4,614,995
ot E 13,071,290 11,251,000 1,820,290
= 9,751,000
< 1,384,736
Al 1,935,554
AFHUHLMNL(FFE E2FEE H 2HY) 10,834,444 11,251,000 A 416,556
= 9,751,000
Al 1,083,444
403 MtXISH S X201 & 10,834,444 11,251,000 A 416,556
= 9,751,000
Al 1,083,444
02 SO 2SHHEHAHE X 2 E AL Y 10,834,444 11,251,000 A 416,556
ORFH 2+ZHS & AL
10,834,444,000& 14 10,834,444
= 9,751,000
Al 1,083,444
KNS (ELA THOHOI ALY ) (H=H]) (X &AL 1,666,666 0 1,666,666
o)
< 1,000,000
Al 666,666
401 Al HI K 201 I 1,666,666 0 1,666,666
< 1,000,000
Al 666,666
01 A& HI 1,666,666 0 1,666,666




AN ALY
dM: GtdEE e
& ot Fl (9 ® =)
SA - BB B () - MM - BES Ol &t o San HmEET
OS2 THOHOI A (GHE A HI L=8.5km)
1,666,666,000& 14! 1,666,666
= 1,000,000
Al 666,666
NotE Ul (ot THOH Ol L) (==& THOH Ol ZEAHER ) ( 532,847 0 532,847
A=) (E ALY
< 362,336
Al 170,511
401 AIEHI L 2 CHYI 532,847 0 532,847
< 362,336
Al 170,511
01 A& HI 532,847 0 532,847
OFZ& THOHO LA (GH& A HI 8.0km)
532,847,000 » 14 532,847
< 362,336
Al 170,511
Ngote U (MEA, FAA THoH O AL ) (H =0 37,333 0 37,333
(HEALS)
< 22,400
Al 14,933
401 Al Bl 28I 37,333 0 37,333
< 22,400
Al 14,933
01 A& HI 37,333 0 37,333
OdlEA, A4H THoHM AL (St FHl 2.853
km) 37,333,000 » 14! 37,333
< 22,400
Al 14,933
AotdE El 1,303,000 3,087,500 A 1,784,500
A0HE IEXF FH 303,000 281,000 22,000
401 AIEBIZ 28I 303,000 281,000 22,000
01 A& Bl 303,000 281,000 22,000
OA2ctd |8X7 ZHAS 303,000
Deods 845256t (L=56m, H=3m)
45,000,000& =14 45,000
DAZEH 0ESA0HA (L=175m, H=2m)
50,000,000& =14l 50,000
DS MM M3AotE (L=206m, H=1.8m)
40,000,000& =14 40,000
DAHH otz AotA (L=120m, H=1.8m)
40,000,000& =14 40,000
DEEMH MAZS A5 (L=60m, H=2m)
35,000,000& =14l 35,000
DHeHd &EASHE (L=40m, H=3.6m)
35,000,000& =14 35,000
DAZIO AAFASEHA (L=50m, H=3.2m)
40,000,000& =14 40,000




A LU
o] 2]

Bu sEsz
ool A5E Bl CER-ED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
DEtmAMdSs AMAAGHA (L=100m, H=1.2m)
18,000,000 *14] 18,000
2or0|Aot™ HUI(MEAFY) 500,000 2,003,000 A 1,503,000
401 Al Bl 20 HI 500,000 2,003,000 A 1,503,000
01 A& HI 500,000 2,000,000 A 1,500,000
Ogotolactd HUIAIY 500,000,000& * 14 500,000
A22A0IA HU|(HEAIY) 500,000 503,000 A 3,000
401 Al HI YL 2 0HHI 500,000 503,000 A 3,000
01 A& HI 500,000 500,000 0
O2UA2=3A56td HUIAIY 500,000,000 * 14! 500,000
otd SXl2el 2,083,441 5,150,330 A 3,066,889
= 557,000
= 150,000
Al 1,376,441
otd RN 1,203,241 1,135,067 68,174
101 @121l 261,833 167,744 94,089
04 JI2ZtH 22 XNEE 261,833 167,744 94,089
Odtd 333 & g2 261,833
= 77,0003 *10H *176 135,520
>EsY 77,0003 *109 x32 24,640
> a2 2,002,000 x10H x23] 40,040
DAHAXLEE 86,590 *10H »8 6,928
> &M Z A 140,000 x10H x8& 11,200
> s 82X 120,000& *10H =8 & 9,600
> ¥ EFIHHI 2,002,000 x10H *13] x40/ 100 8,008
D=0dzZ282 235,935,200 x4 .5/100 10,618
DAHAUABEE 235,935,200& *3.43/100 8,093
PEAIIQRABEZ 8,092,580 x11.52/100 933
PNEBEs 235,935,200 *1.65/100 3,893
DA EE S 235,935,200 *x1/100 2,360
201 et A | 30,880 56,543 N 25,663
01 AFR22t2l Yl 7,460 7,460 0
OdldKX22IAYE 29 £=2H|
330,000& x12& 3,960
Ot 2|33 FEAH+Y 70,0008 x10Y «53] 3,500
02 352494l 23,420 49,083 N 25,663
O=xclAld &3 800,000& x12& 9,600
Oodtd Al &Hl X2l 6,000,000& x 14! 6,000
O Xt&k= Xl Hl 7,820
>PEEUSEE 4,404,000 =1CH 4,404
>otEAE 3,416,000& = 1CH 3,416




S AL
M sEEY N
&2 ol |X2el (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
202 o4 | 5,760 5,760 0
01 2L I 5,760 5,760 0
Obotd 2stnd SHM = 480,000 x128 5,760
401 AlEHIZL 2 0HY| 902,268 902,520 N 252
01 Al& H| 900,000 900,000 0
Odtd (Xletold, AStE E) SRl 22| (L=459
km) 700,000,000 « 1Al 700,000
Ootd =4d|(Xeatd, ASHE S)
200,000,000 « 1Al 200,000
03 AlE 20| 2,268 2,520 A 252
OA&E S0t 2,268,000 =14l 2,268
405 XHA&HF S HI 2,500 2,500 0
01 XML 2 FF S| 2,500 2,500 0
Oul=2| 500,000 *5CH 2,500
=2(2)% Marze 23,200 23,200 0
201 Bt 23,200 23,200 0
01 AP 22| H| 23,200 23,200 0
OHESX(SEZHX) SS(28 S) 42
400,000€ x14& X| 5,600
ORZ)SWH BAHSY STL+42
600,000 x7& X| 4,200
OS8) & 2d3ZEI} 2 100, 000 30! X| 3,000
ONFSE S2442 400,0002 * 102 X| 4,000
OBHE (45187 SHBSIHY S2242
800,000 x23| x4 J| 6,400
=IIotE |FANES 557,000 3,312,063 N2,755,063
= 557,000
201 et d| 10,000 0 10,000
= 10,000
02 2%l 10,000 0 10,000
OZ2222 ¥ HMA 10,000, 000& » 1Al 10,000
= 10,000
401 AlEHI L £ 0HY| 547,000 3,312,063 AN2,765,063
= 547,000
01 Al&H| 547,000 3,312,063 N2,765,063
O=2Jletd RANEX 547,000,000 1Al 547,000
= 547,000
MoHCHHl XI2ol® ot=AHI AL 200,000 100,000 100,000
& 100,000
Al 100,000
401 Al HI L £ 0HHI 200,000 100,000 100,000
& 100,000
Al 100,000




S AL
M sEEY N
& ot |X2tel (9 ® =)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
01 Al&H| 200,000 100,000 100,000
OMolitHHl Rotd ot ZHI ALY
200,000,000 « 1Al 200,000
& 100,000
Al 100,000
SUA oW YURX XA 100,000 0 100,000
= 50,000
Al 50,000
401 AIEHI 2L 2 0HY| 100,000 0 100,000
= 50,000
Al 50,000
01 Al&H| 100,000 0 100,000
OEYA o ARX AXAY
100,000,000 =14l 100,000
& 50,000
Al 50,000
HEES (AL 4,867,050 6,366,782 N 1,499,732
SIS (AL D) 4,867,050 6,366,782 N1,499,732
X| gk xH &F 2t 4,867,050 6,366,782 N 1,499,732
311 X 20| AHAH & 217,050 466,782 A 249,732
01 Al -2« 2XREHLI S 20| XHAHE 150,000 345,282 N 195,282
OZ2NS A~ 2425682 S 2 E
15,000,000 1Al 15,000
ONSESER2(RA-EN) Ha
45,000,000 «1A! 45,000
OHHEs & EHAMAAHC KNotAIE & X
18,000,000 » 1Al 18,000
OZANHEEZZ 1-135 (HE-~HR2H) T2
72,000,000& x 14! 72,000
02 S32sI1 2 X 20| AHakst 67,050 121,500 NB4,450
OZ2NSAIEIE 2 C425 62 S 24
2,250,000 1Al 2,250
OHHE & HAMAAHE Kot A& X
64,800,000 14! 64,800
601 X2 A= 4 & 4,650,000 5,900,000 A 1,250,000
01 Al - &2 NENEI SIS S AE 3,400,000 3,400,000 0
OSAMSA~EIEZ2E425 62 E2 A
1,000,000,000! 14! 1,000,000
ONREBEZ(RA-2E2) Ha
1,000,000,000! 14! 1,000,000
OHAHES S HAMAAC KNGHAIE & X
300,000,000 x 1Al 300,000
OZANHEEZZ 1-135 (HE-~HR2H) T2
1,100,000, 000 =14l 1,100,000
02 Eslas)IAdXdaIAE 1,250,000 2,500,000 A 1,250,000
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